3 Al

HT

33,570

_ _ PSS I =
A~ EH .2 (B) - Ak o 0l ot o HDZ2
2t 28,659,818 24,348,268 4,311,550
2 5,998,896
= 4,120,000
p 8,938,273
2 467,847
=3 9,134,802
B0l U= 04, =S FE IS 15,638,847 14,540,683 1,098, 164
2 5,000,896
9 6,906,740
= 192,747
-3 3,538,464
UHBS ABIZH 423,370 182,370 241,000
£ 33,570
-3 389,800
A FH 75,000 38,000 37,000
201 Yer2AH| 26,000 26,000 0
01 At2Z2IH| 26,000 26,000 0
Og et a4 2| 26,000
203 Y2 EY| 9,000 12,000 A3,000
03 Al E=T Y2 FTIH| 9,000 12,000 23,000
OWSHHLREX 3,000
Ons s ER 6,000
207 & Poj 2| 40,000 0 40,000
01 ol Ry 40,000 0 40,000
OSH=SZRHSHHLHBI|2HE g 40,000
==y Rk 62,800 94,800 32,000
301 YR A 4,800 4,800 0
10 HALAHI 242 4,800 4,800 0
OXAHITH OIS RI= X 4,800
307 @120l A 58,000 90,000 32,000
10 Bl = X2 X 58,000 90,000 32,000
OE=014 03l 10,000
OB=014 A3 28,000
OuAtl a2l 10,000
OUetoBiLIial H=0H 10,000
HEAIY 33,570 33,570 0
£ 33,570
307 BI20I A 33,570 33,570 0
2 33,570
10 ABI= X2 X 33,570 33,570 0
OO0 4 F2HAHYS 33,570
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HBSH 243 26,000 16,000 10,000
303 T2 6,000 10,000 A4,000
NERE) 6,000 10,000 A4,000
ONEAB2 ATl 2402 T4 6,000
307 212+01 & 20,000 0 20,000
10 AEI =X 2 X 20,000 0 20,000
OE=0&EY 20,000
Ol EA=ETI A 226,000 0 226,000
401 Al 2B 2O HI 226,000 0 226,000
01 Al&H] 226,000 0 226,000
OO EZA=EBA 28 Y| 226,000
o8 A B 2,279, 140 2,055,034 224,106
= 172,446
| 1,678,769
= 427,925
CIAZABBAL BAK DS 15,840 15,840 0
| 7,920
= 7,920
301 YBHE LS 15,840 15,840 0
| 7,920
= 7,920
10 S ALY B A S 15,840 15,840 0
OCIEZ2ARAIL SAT DS 15,840
| 7,920
= 7,920
JtEEe - H=e wx U IHK KL 995,008 910,691 84,317
| 746,797
= 248,211
308 X+XIEHHISOI & 958,858 878,441 80,417
| 722,697
= 236, 161
NP EEENEES 958,858 878,441 80,417
Os8 yg4 29 79,472
| 52,981
= 26,491
O8Z NgL 29 219, 133
| 146,089
= 73,044
OJNZE ygL 29 149,514
| 99,669
= 49,845
ONF=2 Wahkt 2ENE 29 265, 180
| 218,383
= 46,797
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OHZ2 Mok B5AE 2 239,259
y 199,275
= 39,984
OJIEZ2 MaX 4HEl X 6,300
y 6,300

403 XHX| A S KH= 0| & 36,150 32,250 3,900
| 24,100
= 12,050

01 X SHHX=EEE 36,150 32,250 3,900
ONEE MK BEAE Js22 7,500
y 5,000
= 2,500
OMZE WK B5AL Js22 28,650
y 19,100
= 9,550

ZATHOL FHUH AL 23,338 21,609 1,729
| 19,219
= 4,119

308 XX A S 01 23,338 21,609 1,729
y 19,219
= 4,119

01 HXSHBAEED 23,338 21,609 1,729
OZAMHHE FHXY ALY 23,338
y 19,219
= 4,119

=S HE MEE U HLUXAY 85,527 94,206 A8,679
| 70,433
= 15,094

308 XX A S 01 85,527 94,206 A8,679
| 70,433
= 15,094

01 IR SHBASED 85,527 94,206 A8,679
OJEE JIeiX REXZ 58,812
y 48,433
= 10,379
Od=2 Jeix BEXE 26,715
| 22,000
= 4,715

b= %X ¥ WK N 97,143 87,428 9,715
y) 80,000
= 17,143

308 X+ X| A S 01 97,143 87,428 9,715
| 80,000
= 17,143

01 RXISHBAEE 97,143 87,428 9,715
ONFE Mok X23= 72,857
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5] 60,000
< 12,857
OJNE=2 WalK 22| 24,286
p 20,000
= 4,286

g2 wx ¥ ok K 106,372 91,131 15,241
g 87,600
= 18,772

308 XXl £ S0l & 106,372 91,131 15,241
g 87,600
= 18,772

01 KX SHBABES 106,372 91,131 15,241
OMZ2 Walk X232 45,657
p 37,600
= 8,057
O&Z2 TWalx o 2| 60,715
g 50,000
= 10,715

SSXNMEH 29 657,500 567, 160 90,340
p 620,000
= 37,500

308 XHXI €IS 0| & 657,500 567, 160 90,340
g 620,000
= 37,500

01 RSB A SES 657,500 567, 160 90,340
OFASXAMEH 29 212,500
g 175,000
= 37,500
OBt OtSHE 2 445,000
| 445,000

OhS - OI&OIM X2 Y (RE) 7,200 2,520 4,680
p 3,600
= 3,600

201 LBr2 Y| 7,200 2,520 4,680
g 3,600
= 3,600

01 At 22l 7,200 2,520 4,680
OOtE - HAQIA KoY 7,200
g 3,600
= 3,600

OhS - O1&OHM XIHSIH2Y (KIH) 43,200 45,540 A2,340
g 43,200

308 XHXI €I S 0 & 43,200 45,540 A2,340
p 43,200

01 KX S HZABES 43,200 45,540 A2,340
OO0tS - HEQHA KISy 43,200




SN HaFHD

Hal: B0l Y= 04, HES == O
ool ol A B (el:@g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl Ak 04 il b o HRs2
| 5] 43,200
OlE SHEXT M X 46,717 30,304 16,413
3 35,936
= 10,781
308 Xt XI EH 7 S 01 & 46,717 30,304 16,413
2 35,936
= 10,781
01 XIS B A2 XS 46,717 30,304 16,413
OOlE QHEXE HME X2 46,717
= 35,936
= 10,781
SONHDIGH AEs 2% 100,350 97,665 2,685
2 66,900
= 33,450
308 XX/ &I S 01 & 100,350 97,665 2,685
3 66,900
= 33,450
01 KRS B A2 XS 100,350 97,665 2,685
OSIHIIEH HEs 2 100,350
2 66,900
= 33,450
SONOHDI AT REXIE Abe 9,715 10,310 A595
2 8,000
= 1,715
308 Xt XI £H 7 S 01 & 9,715 10,310 A595
3 8,000
= 1,715
01 KRS B A2 ES 9,715 10,310 A595
OSHHIIBHA PEXIE AreS 9,715
2 8,000
& 1,715
OIAZOIO AFSIZIGIEHT) X2 66,230 66,230 0
2 61,610
= 4,620
308 XHXI £ S 01 & 66,230 66,230 0
2 61,610
= 4,620
01 XIS H AR ES 66,230 66,230 0
OCIEFQ AEIZ OIS IR 66,230
2 61,610
= 4,620
HE=Y ML 2Y 15,000 12,000 3,000
308 Xt Xl £H 7 S 01 & 15,000 12,000 3,000
R L EREES 15,000 12,000 3,000
ONz=2 Hes 2Y 15,000




eREGEEE-L k!

HE: 20| Us 04, 2SS F= IS
ool ol A B (9l & 2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
ClE =2 ekt AtelR2l X 10,000 0 10,000
307 212+0I & 10,000 0 10,000
02 RIABNBE 10,000 0 10,000
OCiE=2 Wahk Aleztel X 10,000
01 & 01 X X 2l W 2 2,638,617 2,564,101 74,516
= 1,557,788
| 121,000
= 159,177
= 800,652
O QIER X2 106,000 50,000 44,000
308 X+XI €M S 01 & 106,000 150,000 44,000
01 MRS HALBES 106,000 150,000 44,000
OO0 HQIER 2SH| 106,000
B HANAUER B S 70,000 70,000 0
307 212+0I & 70,000 70,000 0
SEEES 70,000 70,000 0
OZBANLHANR YEHD 2u3 40,000
OCiHFY RUXE 5N 30,000
Al- 2 FHATIRME 2 37,800 37,800 0
308 XHXIEHHI S 0| 37,800 37,800 0
01 IXISHBAEES 37,800 37,800 0
OA - 2 FHYXAME 29 37,800
CEMRYFIINARS 2 1,172,382 1,166,593 5,789
= 744,250
= 428,132
307 212+01 & 1,172,382 1,166,593 5,789
= 744,250
= 428,132
10 MBI = XX 1,172,382 1,166,593 5,789
OZE20EMLIINARS 2 1,172,382
= 744,250
= 428,132
HEO LIS HE N 207,397 227,397 0
= 159,177
= 68,220
307 21201 & 207,397 227,397 0
= 159,177
= 68,220
RS 227,397 227,397 0
OBZOIHOIANLHE 2 227,397
= 159,177
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N33 S2(3H) - MEAMY - BES e '@Egj Hlw &2
[ < 68,220
MO ME X (XA 10,000 0 10,000
307 212+01 & 10,000 0 10,000
10 AHBI =X 2 X 10,000 0 10,000
O'Dlehel MRI|" 9etsl JHE 10,000
OIEMRUBIIIME X H 2 (AZ) 801,538 671,811 129,727
= 801,538
308 XXl EHHI S0l & 801,538 671,811 129,727
= 801,538
01 RXSHHBABES 801,538 671,811 129,727
OME O QIE X 240,000
= 240,000
OFLEHA ROb= A2 189,000
= 189,000
0% JIE YN 64,400
= 64,400
OXNSEH 281,638
= 281,638
ODnse ALY NPS 26,500
= 26,500
20I2X XHUXel FHALH(HA) 60,000 69,000 £9,000
p 48,000
< 12,000
307 212+01 & 60,000 69,000 9,000
p 48,000
< 12,000
10 AFEI = X2 X 60,000 69,000 29,000
OZE0IUHLQIE (25) 60,000
p 48,000
= 12,000
ZE0/QUK XA 2| HAAH(XH) 48,000 0 48,000
p 48,000
308 X+XI £t M SOl & 48,000 0 48,000
p 48,000
01 RSB A BES 48,000 0 48,000
OZZ0/910{4 01 El (ME]) 48,000
g 48,000
OfCHAEH 2| O L MES X 32,500 32,500 0
g 25,000
< 7,500
308 XXl £t M SO0l & 32,500 32,500 0
p 25,000
= 7,500
01 IR SHBALES 32,500 32,500 0
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SCEEEEREERERE 32,500
| 25,000
= 7,500
NALES NDSE A (RE) 20,000 0 20,000
307 212+0I & 20,000 0 20,000
10 AHEI =X 2 X 20,000 0 20,000
OFBANYR0F HLARIE SHDS 20,000
NYess NenSed XA(NY) 35,000 35,000 0
308 XHXIEHHI S 0| 35,000 35,000 0
01 RS HELRES 35,000 35,000 0
ONYAES NADSEA AIY 35,000
TOHYR U SHUF S FSHHI(NT) 12,000 0 12,000
= 6,000
= 6,000
307 21201 & 12,000 0 12,000
= 6,000
= 6,000
10 AEI =X 2 X 2,000 0 2,000
OTUHLZ U SHLN S BSAY|(2) 12,000
= 6,000
= 6,000
TOHYR U SHUF S FSAHI(NL) 6,000 0 6,000
= 6,000
308 X+XIEHHISOI & 6,000 0 6,000
=2 6,000
01 XS HALBES 6,000 0 6,000
OFUHLZ U SHHN S HSHUI(NR) 6,000
=2 6,000
ALNH S 10,297,720 9,739,178 558, 542
= 3,270,662
| 5,106,971
= 1,920,087
AYNFNAME 2 393, 120 393, 120 0
= 302,400
= 90,720
308 X+XI €M S 01 & 393, 120 393, 120 0
= 302,400
= 90,720
01 MRS HALBES 393, 120 393, 120 0
OALNHNNBME 2 393, 120
= 302,400
= 90,720
IIEEN0 L BESOILISEHSY 47,400 31,600 15,800
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= 42,000
= 5,400
308 X+XIE+HISO0I& 47,400 31,600 15,800
2 42,000
= 5,400
01 XIS B AEES 47,400 31,600 15,800
ONEBL0l L BSKOILEH 29 47,400
2 42,000
= 5,400
ROl o HYE L ABNE X4 15,000 18,000 A3,000
307 2I12H0| 15,000 18,000 A3,000
10 AEI =X 2 X 15,000 18,000 3,000
OSSO < AKX 15,000
SHREIIE RHALSH S X2 2,387,070 1,228,770 1,158,300
| 2,121,840
= 265,230
308 X+XI €A S0l & 2,387,070 1,228,770 1,158,300
| 2,121,840
= 265,230
01 XS HALBES 2,387,070 1,228,770 1,158,300
OBRDIIE HHASH S X2 2,387,070
| 2,121,840
= 265,230
SRS T RSY XL 236, 106 186,368 49,738
308 X+XI €A S 01 & 236, 106 186,368 49,738
01 A H B LB ES 236, 106 186,368 49,738
OstL2ItE DSsty X DEH X 236, 106
BEEIIE SXAIL NE A 312,900 1,911,750 ~1,598,850
2 208,600
= 104,300
308 XX/ €+ S 01 & 12,900 2,900 0
2 8,600
= 4,300
01 A H B LB ES 12,900 12,900 0
OBRRIE SXAIL Y2T & - XEHIX
o 12,900
2 8,600
= 4,300
403 XHXIEHRI S XH2 0] 300,000 1,898,850 ~1,598,850
2 200,000
= 100,000
01 IXISH 22X 300,000 1,898,850 ~1,598,850
ORNEBAL U2 UE 55 300,000
2 200,000
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| < 100,000
BEQIIE Xe 266,092 267,372 A1,280
308 X+XI €+ HI S 0| & 266,092 267,372 A1,280
01 KRS B A2 ES 266,002 267,372 A1,280
OBE IS Lyl N 173,200
OBRDIIE 2XAIL 22(0/ 85,392
ORXBEANE HAT NEEHEZ(01Y) 7,500
Ol0IS 20l X2 2,743,287 1,991,102 752, 185
= 2,422,759
= 320,508
307 212+0I & 43,000 0 43,000
= 30, 100
= 12,900
INSEEES 43,000 0 43,000
OOHOIS 20l BANFIZ 2Y 43,000
= 30, 100
= 12,900
308 X+XIEHHI SOl & 2,700,287 1,991,102 709, 185
= 2,392,659
= 307,628
01 MRS H B LR ES 2,700,287 1,991, 102 709, 185
OO0IS 20l XA 2,700,287
=2 2,392,659
= 307,628
IimuAE N A 272,250 242,250 30,000
= 181,500
= 90,750
308 X+XI €+ HI SO0l & 272,250 242,250 30,000
= 181,500
= 90,750
R EREES 272,250 242,250 30,000
OF oIS s MY 272,250
= 181,500
= 90,750
HAEs22 [Y g 136,766 173,516 36,750
= 113,403
= 23,363
308 X+XI €+ HI S0l & 136,766 173,516 36,750
= 113,403
= 23,363
01 KHXISHH B A2 XS 136,766 173,516 36,750
OHAHEED X 100,016
= 88,903
= 11,113
ORYY 012 2NN 2IN 36,750
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= 24,500
= 12,250
082 =X K& 20,000 20,000 0
307 Q120 & 20,000 20,000 0
10 ABI =X 2 = 20,000 20,000 0
OU0IE2 HHorstn 2P 20,000
GEsIEX/ANE 29 2,654,734 2,612,793 41,941
p 2,345,907
= 308,827
308 XXl EHHIS 0| ® 2,654,734 2,612,793 41,941
| 2,345,907
= 308,827
01 X SHHBARES 2,654,734 2,612,793 41,941
OUSSNENAME S (XAHE) 2,620,398
p 2,321,872
= 298,526
OUSSNENAMEH SY(HBHE) 34,336
p 24,035
= 10,301
GEesIEX/AME N (T) 41,679 24,000 17,679
308 XX/ EHHIS 0| ® 41,679 24,000 17,679
01 HXSHHBAEES 41,679 24,000 17,679
OUSSNENAME SH(THIHE) 41,679
CHRSlIlS 0i0f 2 DS X 623,770 485,096 138,674
p 540,527
= 83,243
308 XX/ EHHIS 0| ® 623,770 485,096 138,674
p 540,527
= 83,243
01 HXSHHBARES 623,770 485,096 138,674
OLI23IE Xt o gX el 313,552
p 277,831
= 35,721
OZE0I8X S - BAHIA 194,752
p 160,384
= 34,368
OLI2SIER A0I S T AL 115,466
p 102,312
= 13, 154
ZAUHOIF0A X 119,846 121,241 A 1,395
ol 98,697
< 21,149
308 XX/ EFHISOI 113,221 114,616 A 1,395
| 93,241
< 19,980

_11_




SN AT
Hal: B0l Y= 04, H=S F= O
Sl HANBFH (el &2
. _ o HEG =
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
01 MHRSHH B LR ES 113,221 114,616 A1,395
OZoh 01F04 2SAE 29 113,221
| 93,241
= 19,980
403 Xt X SRS XH 0] & 6,625 6,625 0
| 5,456
= 1,169
01 XX S X2 2 = 6,625 6,625 0
O=AT el 01F018 BEAE IS 6,625
| 5,456
= 1,169
Cesiis Xe 27,700 32,200 A4,500
201 YEr2g | 13,200 13,200 0
01 At 22|t 13,200 13,200 0
OCI28t AAX 22t 13,200
307 212+0I & 14,500 19,000 A4,500
10 AHEI =T 2 X 14,500 19,000 A4,500
OLI2EINSXACH AKX 214 4,500
OCI230tE &0t2 &Rl N 10,000
=PNEEEIETL] 12,944, 147 9,752,565 3,191,562
= 998,000
3 4,120,000
| 2,031,533
= 275,100
= 5,519,514
PSEEFEY 9,518,873 6,784,443 2,734,430
= 200,000
3 4,120,000
| 612,575
= 4,586,298
HAE2MDE 51,000 44,000 7,000
307 212+0I & 51,000 36,000 15,000
NEESEES 51,000 36,000 15,000
OBAE 2HDE 51,000
NEBAGENRE 2 10,000 10,000 0
| 5,000
= 5,000
307 21201 & 10,000 10,000 0
| 5,000
= 5,000
SEEES 0,000 10,000 0
ONTHALERCARE 29 10,000
| 5,000
= 5,000
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NSHAEHNHAE 2 7,000 6,000 1,000
p 7,000
308 Xt XI £H 7 S 01 & 7,000 6,000 1,000
| 7,000
01 KX SHBABES 7,000 6,000 1,000
ONAHALHNIARE 2 7,000
| 7,000
HAE 5 B0IS & 10,000 10,000 0
307 BI2+0| & 10,000 10,000 0
NREENEES 10,000 10,000 0
OFAW 5 8012 10,000
MoK HS] HAE &} 8,000 18,000 0
307 BI2+0| & 18,000 18,000 0
NREENEES 18,000 18,000 0
O=MOorH i3l HA 18,000
HAUCH $2ES D21 40,000 40,000 0
307 QI2+0I & 40,000 40,000 0
NREENEES 40,000 40,000 0
OBAUCH +28S T2 29 40,000
HAGZENAME S X 504,363 460,363 44,000
| 184, 145
= 320,218
307 DI2+0| & 460,363 460,363 0
| 184, 145
= 276,218
IPNEEMEES 460,363 460,363 0
OZHSCTHAAZHNAME 2 X2 460,363
p 184, 145
= 276,218
402 BIZFR 0| & 44,000 0 44,000
01 QX ESE 44,000 0 44,000
O138A2HAE NBEES RSP 28,000
OZHSCHAASHNAME SIHTMAAE
col 16,000
HAE BE X2 233,160 35,960 197,200
| 160,800
= 72,360
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| 160,800
= 72,360
01 KHXISHHB A2 ES 233,160 35,960 197,200
OBAY 25Z 29N 197,200




SN

e
=R PNEL- T
ol BAUANSH

SAN-ZH-SA(FA) - NFAY - BES Off &F oK gl,liafg Hlw &2

] 136,000
= 61,200
OFHAE S0l2 HEX 35,960
p 24,800
= 11,160

HAULYAIL NEX N (HE) 19,440 172,320 A 152,880
p 9,720
= 9,720

307 ©I2+0| & 19,440 19,440 0
p 9,720
= 9,720

MAEENEES 19,440 19,440 0
OFAESBAE NEX X & 19,440
p 9,720
= 9,720

HAULYAIL NEX N () 153,960 0 153,960
p 153,960

308 XXl EHHI SO & 153,960 0 153,960
p 153,960

01 HXSHZA2ES 153,960 0 153,960
OFAHSBAE NEX N 153,960
p 153,960

HAE 4PT20Y 29 U 245 X2 43,200 43,800 600
g 43,200

308 XXl £+ M SOl & 43,200 43,800 2600
p 43,200

01 RSB A BES 43,200 43,800 600
OFAE D208 29 L FH5 XY 43,200
p 43,200

HAULPAL 2YRARS 2Y 18,750 17,000 1,750
| 18,750

308 XHXI €IS 0| & 18,750 17,000 1,750
| 8,750

01 RSB A EES 18,750 17,000 1,750
OFLULBAL 2HFARS 29 8,750
g 8,750

HALSEDS TR 285,000 285,000 0
= 200,000
= 85,000

307 ©I2+0| & 285,000 285,000 0
= 200,000
< 85,000

05 212kl Er2 285,000 285,000 0
OFAE NS T2 285,000
= 200,000




[}
R’

ok
ol

e

n0

KIo

Bl w

2,464,000

2,464,000

2,458,520

5,480

341,000
341,000
341,000
A 10,000
A 10,000
210,000

144,000

108,000
108,000
108,000

30,000

LH3r
m<l
Rk

20,000
20,000
20,000

3,448,000

3,448,000

3,438,700

9,300

1,619,000
1,619,000
1,619,000
50,000
50,000
50,000

199,000
55,000
55,000

=
o

s

<J

Iy

85,000
20,000

20,000
20,000
20,000

5,912,000
2,160,000
3,752,000
5,912,000
2,160,000
3,752,000
5,897,220
5,897,220
2,154,600
3,742,620

Iy

iy

A

14,780
14,780
5,400
9,380

1,960,000

iy

40,000
40,000
40,000
40,000

1,960,000
1,960,000
1,960,000
1,960,000
1,960,000
1,960,000

55,000
55,000
55,000
55,000

108,000
108,000
108,000
108,000

30,000
30,000
30,000

KJ
K
ol

ar
00

uk
E

)

RO

EtAIE 242

307 2IZ2tol &
10 A

i

~J

i
{0
ol
fs)

401 AIEHIZL S THYI

01 A& H

R

i

o
<
or

OXted

03 A& 20

K

~J

U
{In
ol

OXt+eA

iy

A& Jls

!

<+

)

L=

RO
[0
[0

IS A=01&

bSIDN;

t
t

A=20lH

o1 Xt
F

403 Kt
02 2!

.

n0
H
%

—_

w

|
o||_c

oD
Ko
)
<
R0
i
K10

A
=

[uind

2| }\}

2E X2

9

X
[=}

mE=E)

307 212+01 A

28 XIEA (X2

ol

RO

Kio
ol

A
=

[uind

2| /\}

e

ENSSEDN

g

X
(=]

EE‘J) x
==

ord
il

=
=)

X

F

308 At

30
0B

ull

O
[

ar

1o
il
b0
=
)
3

ol

RO

30,000

7
- 15 -

ord

=
=)

pS

F

308 Xt




SN AT
HE: Ha

EE=H
CHelr HAEAFRY (el @g
_ _ HE T
SN EB -GS - MBAY - BES 01l &k o e HRE2

5] 30,000

01 KIXISHH B A 2 XS 30,000 0 30,000
OHAE HBEES XANS 22 2 30,000
| 30,000

HAEESHE 3,425,274 2,968, 122 457,152
2 798,000
| 1,418,958
= 275,100
= 933,216

H2StHE SINA(NE) 127,000 127,000 0
| 63,500
= 63,500

307 212+0| | 127,000 127,000 0
| 63,500
= 63,500

05 DI2t9IEt 2 127,000 127,000 0
OM23HE 2YXY 127,000
| 63,500
= 63,500

H2SHE 2SI (M) 53,500 53,500 0
| 53,500

308 Xt X EHHI S 01 & 53,500 53,500 0
| 53,500

01 KRS B A2 XS 53,500 53,500 0
OM25ME 2YXY 53,500
| 53,500

HAUQWBBLAG XAos 2N 10,000 0 10,000
2 5,000
= 5,000

307 212H0| | 10,000 0 10,000
= 5,000
= 5,000

NEEREES 10,000 0 10,000
OFAURHSBZAS NHBAS 2LX2 10,000
2 5,000
= 5,000

HAUQWBAZANG 29 25,500 25,500 0
2 17,000
= 8,500

308 XX £HHI S 01 & 25,500 25,500 0
2 7,000
= 8,500

01 XIS LA 2 ES 25,500 25,500 0
OHAURHBAZANY 2Y 25,500
2 17,000
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SN AT

P gﬁ@ég%@
Ce HAEBSHE (&9 HM
5 - PIIEL=
A EH (SN - MEAY - B2 0 & 0 SR D=2

| T 8,500

HFad dH SN (HE) 117,900 114,682 3,218
J| 58,950
= 58,950

307 Q12t01 M 117,900 114,682 3,218
J| 58,950
= 58,950

10 At SXIE X 117,900 114,682 3,218
O&aEaEH 22X 117,900
J| 58,950
& 58,950

HFad dH XA (XE) 496,450 0 496,450
J| 381,885
== 114,565

308 KX EHH SO0l A 496,450 0 496,450
J| 381,885
= 114,565

01 AXESHBINMNEEZZ 496,450 0 496,450
OdArdalH 28X 496,450
| 381,885
& 114,565

Had SEXNMARS(HY) 396,300 370,200 26,100
J| 221,550
== 174,750

307 212t01 A 396,300 370,200 26,100
J| 221,550
= 174,750

10 AFZI=SXIE = 396,300 370,200 26,100
OFAEHSSXNIAAH 2= 396,300
| 221,550
& 174,750

Had SSXNMARS(XE) 200,000 164, 150 35,850
J| 200,000

308 AR SO0l H 200,000 164,150 35,850
| 200,000

01 AIXESHXBAEEZ 200,000 164,150 35,850
OHAEHSSXNIAMAH 2= 200,000
| 200,000

HASAMS T JAAS 393,000 329,000 64,000
= 275,100
&= 117,900

307 2I2t0| & 393,000 329,000 64,000
= 275,100
& 117,900

10 Al SXIE X 393,000 329,000 64,000




SN AT

MH: HAEYS
Ol BAUESME EEREED
SA BB H(BH) - MBAY - B2 O A+ 24 ggi HRs2

OFAHALTRAL 393,000
= 275,100
= 117,900

SHRTZZIYSIXA(RE) 220,902 213,372 7,530
| 110,451
= 110,451

307 QI2+0| & 220,902 213,372 7,530
p 110,451
= 110,451

NREENEES 220,902 213,372 7,530
OSHIZZIASHL 2 220,902
| 110,451
= 110,451

SHRTZZIYSSXA (L) 83,422 64,524 18,898
| 83,422

308 Xt XI £H 7 S 01 & 83,422 64,524 18,898
| 83,422

R e eSS 83,422 64,524 18,898
OS¥X T2 24X 83,422
| 83,422

SCUAZE RYNA(NE) 156,000 150,000 6,000
g 109,200
= 46,800

307 BI2+0|H 156,000 150,000 6,000
| 109,200
= 46,800

MNEENEES 156,000 150,000 6,000
OSCazE 29 156,000
| 109,200
= 46,800

SCUZE RYNA(N) 136,500 0 136,500
p 136,500

308 Xt XI £H 7 S 01 & 136,500 0 136,500
| 136,500

01 KIS B A 2 X3 136,500 0 136,500
OSCazE 2Ax 136,500
| 136,500

Hod 2S HSAY 1,008,800 1,019,370 A10,570
= 776,000
= 232,800

308 Xt XI £H 7 S 01 & 1,008,800 1,019,370 A 10,570
= 776,000
= 232,800

01 KHXISHHB A2 ES 1,008,800 1,019,370 A 10,570
OHAE 95 HEAY 1,008,800




SN AT

N8 FAuoiztst
Sl HAESSHE (el Hg)
SH B O (BIH) - MSAY - B sk oy e D=2
= 776,000
= 232,800
HY2AZHI (KL T ) 76,824 55,020 21,804
ZHl 76,824 55,020 21,804
=&l 76,824 55,020 21,804
201 gEt2dd| 20,664 17,220 3,444
01 AtR2tel 20,664 17,220 3,444
OJl=8tl 8,688
OJl=sEHl 11,976
202 o4l 45,360 37,800 7,560
01 =AY 45,360 37,800 7,560
OJlI=0 45,360
203 ¢ F =&l 10,800 0 10,800
01 J|22d PR F=8Y] 6,600 0 6,600
Ogz 6,600
04 FEN2IHRFLI 4,200 0 4,200
Ondzara 4,200
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